When the denominator of a rational function is zero the function is

undefined.

Because this value of x can never be used this leads to
a break in the graph (it's not continuous)

These breaks in the graph are one of two types:
Vertical Asymptotes

Holes

Graph the rational function f(x) in a standard window.
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Graph the rational function f(x) in a standard window.

There is a break in the graph
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This kind of break
in the graph is called a

Vertical Asymptote

Change the window to the following:

What do you see?




This kind of break in the graph is calleda  Hole
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Points of Discontinuity Why is there a VA at x = -4

and not a hole?
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Find any points of dicontinuity and classify them as

: : Vertical Asymptotes or Holes.
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The rational function f(x) = % has a point of discontinuity for each real zero 1. = 2)('3 — 10X2 —12x

of Q(x). - x2-Tx+6 &,W\ C\, ~l)
If P(x) and Q(x) have no common real zeros. then the graph of f(x) has a

vertical asymptote at each real zero of Q(x). Pts of Discontinuity: X: / g s

If P(x) and Q(x) have a common real zero a, then there is a hole in the graph
a vertical asymptote at x = a.
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Hwk #41 Due Tomorrow

Practice Sheet: Points of Discontinuity



